



(An Autonomous Institution) Coimbatore-641035.

UNIT 4- ALGEBRAIC STRUCTURES

Normal Subgroup

Nonmal subgroup: Let H be a subgroup of G under #. Then H & said to be a nonmal subgrocep of G, for evy. REG and for hEH 98 2 * h * 2 - 1 E H and 2+H*xT CH Attendatively, a subgroup H of G1 98 called a normal subgroup of G1 91 x * h = h * x, 4 x & G1. Theosem: 1 The Potessection of any a normal subgroups & a normal Subgroup. Ploop: let H and K be the a normal subgroups. => Hand Kare subgroups of 61 > HOH is a subgroup of Gr (Already Proved) Now we've to prove that HOK & normal. Let x & G and h E H n K xea and neh and bek > x E G , and hEH and x E G, hEK > X + b + x T E H and x * h * x T E K Ly(1) (: Hand K are Borma) flow (1) and (2), we get subgeoups) 2+b+x-1 EHOH > Hok is a normal subgroup of 61.





(An Autonomous Institution) Coimbatore-641035.

UNIT 4- ALGEBRAIC STRUCTURES

Normal Subgroup

```
Let G and G' be any two govoups with
Thoseom 2:
adentity ett. e and e' norty. If f: G > G' be
a homomorphism, then hor (f) is a normal subgroup
: gooved
  Jet K = HOT f = {x EG/f(x) = e'}
 we know that hor (f) & 9 subgroup of G
 NOW we've to prove that Key (f) is nonmal.
   TO PHOVE &* H X TEH
   Let REG and hEK
     · f(x*h*x") = f(x) + f(h) + f(x")
                             ·· f & a homo.
         = f(x) * e' * f(x-1) [:: hek= kerf]
          = f(x) + f(x+)
          ニチ(メチャー)
          =f(e)
    f(x*b*x-1) = e1
             => x + h + x - E H
        i. K= Kel f & a polimal subgroup of G.
```





(An Autonomous Institution)
Coimbatore-641035.

UNIT 4- ALGEBRAIC STRUCTURES

Normal Subgroup

```
Theorem: 3 Fundamental Theorem of
                  Hemomosph9800
Every homomosphic amage of a group q
38 Seomosphac to some quatrent governe of G.
          (02)
  Lot f: GI > GIT be a onto homomonphism
of groups with keiner K. Then G/K ~ G!
Peoof:
  Let f: G > G' be a homomorphism
  Let I be the Keeper of 1895 home.
clearly & B a normal subgroup of G.
TO PLOYE GIK SE SEOMOLPHIC GIK = GI
1). To people of & well defined
  Let $ : G/K -> G' by $ (K*A) = f(a)
 Consador,
            おおるこれから
             > axbTEK
             > f(a* b) = e'
           f(a) * f(b') = e'
           f(a) * [f(b)] = e"
            f(a) * [f(b)] * f(b) = e' * f(b)
               +(a) * e = e' * +(b)
                    f(a) = f(b)
               $ (K*a) = $ (K*b)
              : p'is well defined
 ii). To Plove + & 1-1.
   Te, φ(K*a) = φ(K*b) = K*a = K*b
   consider $ (K*a) = $ (K*b)
```





(An Autonomous Institution) Coimbatore-641035.

UNIT 4- ALGEBRAIC STRUCTURES

Normal Subgroup

$$f(a) = f(b)$$

$$f(a) * f(b') = f(b) * f(b')$$

$$f(a * b') = f(b * b')$$

$$= f(e)$$

$$= e'$$

$$\Rightarrow a * b' & e k$$

$$k * a = k * k b$$

$$\therefore \phi & | b | -1 |$$
While the end of the end o